2016
Tafy (vvA-u=-1)
( srfererft fafy )

g ; 9 g2

FftrRad 37 : 200

a9 srgewm

FffE F 9 Ho 1 A 2 FN AFEE R a1 I FE UR UA 7 R FA B: TH 7 T B
F T & d 4 Fuifa 3w sifed §)

LAW (PAPER-])
( Substantive Law )

Time Allowed : Three Hours Maximum Marks : 200

SPECIFIC INSTRUCTIONS

Candidates have to attempt Question Nos. 1 and 2, and any four of the remaining ones.
Attempt six questions in all. '

Marks carried by each question are indicated at its end.
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(@)

(b)

(c)

(d)

e st < gen SdER @ W@ ak I vafda e % ferg gl =i IwEw
39 7 B |7 uRd F Gfum gR wen =anfae SueRl ) e w0 g 3@ w9 W feuh
i |

“A declaration of fundamental rights is meaningless unless there is an effective
judicial remedy for their enforcement.” Comment on this statement explaining
the judicial remedies provided in the Constitution of India.

wet wfaum # W@ s ve § S =mafas $ s o wda B gliE =@ f) =
39yl i o= il R TE=m =EeE % s FefE & g g

There are many provisions in the Constitution of India which secure
independence and impartiality of the Judiciary. Discuss those provisions and
refer to important judgements of the Supreme Court.

1 FEE A AR F FEfta aRdi 9Eam F 9w 01 ) geiftE = awd 27 e Hifg

Can Parliament amend Part III of the Constitution of India relating to
Fundamental Rights? Discuss.

Hfaur F fftm wg=ael #1 w23 gu 99 w@ T F 9w fRue el A =men fif

Explain relations between the Union and the States in legislative matters with
reference to various Articles of the Constitution.
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(@)

(b)

(c)

3 il 1 Farse A W feg Far wfufem, 1955 % wwwia =i guem f fEh' sw
1 51 gwdl 8| R guE ) fEh o ‘few-faese fi R A o 20

State the grounds on which a ‘decree for judicial separation’ may be obtained
under the Hindu Marriage Act, 1955. How does a ‘decree for judicial
separation’ differ from a ‘decree of divorce?

(i) aﬁq—ﬂmﬁ%aﬁﬁﬁm%aﬁﬁwﬁmmm%,aﬂhmlmq@ﬂ%m
g afi oft TereE 1 R STerey R7 faae fifsm)

Describe the classes of persons who can claim a right of pre-emption.

Whether the right of pre-emption is still available on ground of vicinage?
Discuss.

(i) e, fen-foa-wew w@ Ra-a-wda-as § s Hifw
Distinguish between Hiba, Hiba-Bil-Evaz and Hiba-Ba-Shartul-Evaz.

dfE & gEigns o1 F 9 7= E6gd 87

ol ‘THo Ao Sgo' WERH, To o Hio' TWHR WiEW ¥ ¥ Hidw wdl ¢ R 9w W
1000 geft st 31 fmwer, 2015 Fi 41 39% @, T 400 ¥t Fis A & mfd Fon| 9=
# weell A9, 2015 F THHo diEo g0’ ZFHeRd, Uo dio Hio' TMNHR VW FI T2 Hfd
wal ¢ & 9 w1 amgfd 78 w=om | 38 ' F g e dio' MU WIEH F FH-H IR
Iqesy &, e il

What do you understand by anticipatory breach of contract?

M/s XYZ Textile enters into a contract with ABC Garment Showroom for
supply of 1000 pieces of cotton shirts at ¥ 400 per shirt to be supplied on or
before 31st December, 2015. Later on, on 1lst November, 2015 XYZ Textile
informs ABC Garment Showroom that they will not supply the shirts. Discuss
the remedies available to ABC Garment Showroom.

3. (a) Wﬁmmﬂwﬁ%?aﬂa‘wﬁwaﬁlﬁﬁ?mmmﬂwﬁﬁm
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(b)

What do you understand by mortgage? What are the essentials of valid
mortgage? Distinguish between mortgage and charge.

frafafaa @ e $ifv -
Distinguish between the following :
(i) fifea feq @ ey fea

Vested interest and Contingent interest

(i) TE1 UE FIHW

Lease and Licence
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5.
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(a)

(b)

(@)

(b)

WG H % TSR & 1 U9Td 87 41 G4 b (Sl % GHE I, 918 5 aEd © F
AH, W1 H Sl Fh g R S war 27 R it

g 3R Wied T s B % wriier 3 wrfierd frea 3 97 39smg o 5 wpierl ¥ o
foae 2 A T F e F Arerem F 9 i sem) 39 e 1R 2E ¥ 99 e I
& T Hied 3 Aoy g fF e @6 3 o genfa w6 & i faare ) ney =)
w=hilfa 0 ¥ 7R W | 70 A i e F) wwe B w=fifa 50 F o faaw fen
a1 87

What are the effects of non-registration of a partnership firm? Whether the
effects of non-registration of firm can be cured during pendency of the suit by
getting the firm registered? Discuss.

Mohan and Sohan were partners in an unregistered firm. There was provision
in partnership deed that in case of any dispute between the partners, the
matter will be referred to arbitration. After some time, a dispute arose between
the partners and Mohan appointed an arbitrator but Sohan did not give his
consent and refused to refer the dispute to the arbitrator. Whether Sohan can
be compelled to refer the dispute to the arbitration?

Al A deam AriRi F ou gRE e ® weg s @ e it

ey, et I Uil 81 SEA 9 Bi-u9 aTels H 2 ) e 3 39 #-vw ¥ s
FEE & ) @ wan R iels arfiar 87

“Sharing of profit is prima facie evidence of partnership, but not conclusive.”
Discuss.

Santosh is wife of Alok. She gave her Stridhan to Alok. Alok started his
business from that Stridhan. Whether Santosh and Alok are partners?

“qreAT FAEEUHT F A 99 996 309" A81 B0 5" 9% 16 9rEagE §tad ¥ FHasd H 9
fn mn ) Foffa 9@t 6 GeEa @ 3@ w9 A AT iR

“No case of actionable negligence will arise unless there is a breach of duty to
take care.” Discuss this statement with the help of decided cases.

“qa AER % IFE W AEEE IiE TeH W a2 TS F afra F Gt an
foera F sre= d 8 U w1 favemo it

“The Court can provide compensation for violation of Fundamental Rights.”
Analyze this statement in the light of emerging principle of liability of State.
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(c)

(a)

(b)

(c)

(b)

Frafeafas 4 s Hifsw -
Distinguish between the following : 5+5=10
(i) I Td WER
Assault and Battery
(i) FTIH @ IR ATH T
Libel and Slander

R = sfutem § fard F w0 aftmr 87 fasm A
What are the rights of beneficiary in the Indian Trust Act? Discuss. 10

Fergev Tieheal % firera & 3 F0 wwed 87 a8 faera fF v 3 =l ® an) g 27
What do you understand by doctrine of cy pres? On what type of trusts this

doctrine is applied? 10
Frafafiaa gt & e wfea =men Hifg -
Explain the following maxims with illustrations : 5+5=10

(i) T TR 9Tel W Sl 91fe)
He who seeks equity must do eqﬁity.
(ii) <&l wre wHE R, 98 iy s @)
Where equities are equal, the law shall prevail.

Tt g gaETfhewR’ § 9 0w §7 36 AGwE o 1 87 Wea 3 gaEfen 3
HR Hif

What do you understand by ‘easement by prescription’”? What are its
essentials? Distinguish between profit a prendre and easement. 15

Taffde sgam’ @ =9 F=n wud €7 0 2ve Al F yada F fou e e wem e
Heal &7

What do you understand by ‘specific relief’? Whether specific relief can be
granted for enforcement of criminal law? 15



® 8 @ “fom foee ¥ FR F 217w Pam ¥ w smEr 7 fEEW it
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“An agreement without consideration is void.” What are the exceptions to
this rule? Discuss.

A owes ¥ 10,000 to B but the debt is barred by the Limitation Act. A signs a
written promise to pay B ¥ 5,000 on account of debt. Is it valid contract? Refer
to relevant provision of the Contract Act. 15

(b) AW T % e fre-fwe = ol R 21 W 3 o B sty vl F o
gAfare fra 21 0" 3 foame-faede % amv-feg anfie ) < wien w2 Y F Rl
fermme 6t fafty wr=ren samgw) #0039l S sww w@m AR arde arfER 3 @ STh? T gE
feg R
C was granted divorce by the Court against P. C got remarried before the

expiry of the period of appeal. P filed an appeal against the order of divorce and
it has been granted. Discuss the legality of the second marriage of C. Will it

make any difference if the appeal is dismissed? Both the parties are Hindu. 15
9. f=fufaa i =ren Hifvw -
Explain the following : ‘
(@) Hem fafy 3§ qems % fafts gfom |
Legal consequences of Talak under Muslim Law 10
(b) HfvEFR R e Tew § R
Difference between Acknowledgement and Adoption 10
() T i gf swufvsr iy § s |
Difference between Shia and Sunni Succession Law 10

10. fefafaa wrens 3§ & el @ =), wrifs R 1 33@ #0 gy, T AR -

Solve any three of the following problems by referring to relevant law :

(@) wF Gfem aid T=ge’ TR A it wiw war 21 Iuh veeh ueh Steo’, Tve i dhear
S gorg T TE -t @ g el B ‘gege’ w=E i dafee AR, o) 90w @
A gelt T A g A R, F oA 3@ ) ol A

A Muslim husband W contracts a second marriage. His first wife Z claims
separate residence and maintenance under the Criminal Procedure Code.
W pleads defence of his personal law which permits him to take more than
one wife. Decide. 10
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(b)

(c)

(@

9 ¥ w i wm A SR 6 R, W, 9 R 10,000 A H ERE @ ) T F WA
S S 21 w0 W, ‘e A € 10,000 G weha1 87 1 FE ASh wfeE R7

A contracts to pay € 10,000 to B if B’s house is burnt. House of B is burnt. Can
B recover € 10,000 from A? Is it a wagering agreement?

‘@ wHE FR A T F T 3@ RS & i B T

A abuses B in a lonely room. State the liability of A.

‘o, ‘@ F) o qrieR w9 i W A ofem w21 g9 @ R g § e IR T
wrier 7@ &1 @, T @ UR Wie A wa g Fn w, ‘T F w4 % fou arfh 27

A introduces B to C as his partner and B remains silent. In fact, A and B are
not partners. C supplies goods to B on credit. Is A liable for B’s act?
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